X XIX PEIYBJIMKAHCKA CTYJIEHTCKA OJIUMITUAJIA

ITO ITPO'PAMHWPAHE

12-13 MA CKW YHUBEPCWUTET "AHIENT1 KbHYEB"

3amaua J. [IsTHIA

JaneH e kBanpar ¢ pazmepu NxN. 3a mocTuraHe OT TOPHUS JISIB 10 JOTHUS I€CEH BI'bJI Ha
KBaJIpaTta, ChIIECTBYBAT KpacH Opoi peleHus.
Hampumep, npu N=1, Bb3MOXKHUTE pelieHus ca 2:

EAN

[Ipu N=2, Bb3MOXHUTE penieHus ca 6:

B

Hanwumere nporpama, KoATo MpH 3a7a/leHo LsI10 Yuciao N, HaMupa Oposi Ha Bb3MOXHHUTE
pemenus. [Iporpamara Tpsi6Ba 1a 06pab0TBa HAKOJIKO TECTOBH IIpHUMeEpa.

Bxox
Ha nbpBus pen BbB BXOAHUS (ailsl € 3a7a/leH0 YUCio ¢ — Opoil Ha TECTOBUTE MPUMEPH.

Bceeku ot cnenpamuTe pefoBe ChABPKA €AHO LU0 4YHMciIo N, MpeAcTaBiIsIBallo pa3Mepa Ha
MperKara.

N3xon
3a BCEKU TECTOB MPUMEP B M3XOAHUS (Pailyl ce M3BekKAa €AUH Pel, ChIAbPKAIll €IHO 1510
MOJIOKUTETHO YUCIIO — OPOSAT BH3MOXKHH MBTHUIIA 32 JOCTUTAHE OT TOPHHUSI JISB 10 AOJTHHS J€CEeH

BI'BIL
OrpanuyveHus
0<N<30
IIpumep
Bxox H3xon
1 6

2
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Problem J. Paths

A square grid with dimensions NxN is given. Starting in the top left corner, and only being able
to move to the right and down, there is finite number of paths to the bottom right corner.
For instance, when N=1, the possible solutions are 2:

EAN

When N=2, the possible solutions are 6:

h 4

— HR

Write a program that calculates the exact number of the possible paths for a given integer N.

Input
The first line contains an integer t — the number of test cases. Each of the following t lines
contains a single integer N, representing the size of the grid.

Output
For each test case output a line with exactly one positive integer — the number of the possible
paths to reach the bottom right corner from the top left one.

Constraints

0<N<30

Example

Input Output
1 6

2






